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Practice Problem #6

vl

Given

When the total pressure acting at midheight of a consolidating clay layer is
200 kN/m?, the corresponding void ratio of the clay is 0.98. When the total pressure act-
ing at the same location is 500 kN/m?, the corresponding void ratio decreases to 0.81.

Required

The void ratio of the clay if the total pressure acting at midheight of the consolidat-
ing clay layer is 1000 kN/m?.



Practice Problem #7

A stratum of normally loaded clay of 7m thick is located at a depth of 12m
below ground level. The natural moisture content of the clay is 43% and
its liquid limit is 48%. The specific gravity of the solid particles is 2.76.
The water table is located at a depth of 5m below the ground surface. The
soil is sand above the clay stratum. The submerged unit weight of the sand
is 11 kN/m?3 and the same weighs 18kN/m? above the water table. The
average increase in pressure at the center of the clay stratum is 120 kN/m?
due to the weight of a building that will be constructed on the sand above
the clay stratum. Estimate the expected settlement of the structure.




Practice Problem #8

A soil profile is shown in Figure 11.18. If a uniformly distributed load, Ao, is applied
at the ground surface, what is the settlement of the clay layer caused by primary con-
solidation if

a. The clay is normally consolidated
b. The preconsolidation pressure (o.) = 190 kN/m’

¢. ol = 170 kN/m?

Use C.~ ¢ C..

Ao = 100 kN/m?
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Figure 11.18
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